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Quiz - Factoring Lesson #6
Solving Quadratic Equations by Factoring (v13a)

. 1. Solve the following quadratic equations.

a. x*+13x*+30x=0 b. 9x2+6x+1=0
§ {X.zj./gx.,},..g,;)to ol Yoar) =0
x%/ﬁ/}/x% 3) 0 |
oYL

c. 3x* =23x+8 . d. 2y*-18=0
gxl-"-’}g& CF =0 2{2 4_¢7>w0
(s;: } I&IB’) 2(57»%)/% 3)"“’0

e. (x+2)° =6x+28 f. (2x+3.)(2x-3)=-1'-—6x
xiéfx%sf -‘—“éx%ZJz 45‘2&“ 7= [-6%
2
;(L-—fx-— 24 =0 L/X’ %é’\' — /0 =0
. PR =0
(x-6 X’,"’L”) =0 < (,Zx +34 - B ) S
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2. Solve the following quadratic equations.

a x*-2x*-24x=0
A (K‘242;q —Zfr‘) =0
« (et Yory) =0
12 J b

e

><0)6‘/

b. 3x*-19x-14=0 -

(3>< aL-Z,XK'_—" 7) =0

C. 8x? =15~14x
~ 2 .
§x H¥x-15 =0
E;\ 1’.20)(? by ~1$ =0
if'ﬂ(zxw)-s (7xrs) =0

xrlxtq =Yxt2f
A
XFIx-1S =0

X%S)/x 3) =0

(= -5, 37

f. (2x+1)" =(x+5)

Ut | = D528
S ~bx 24 O
3(x A% -6 70

[x 9)(){;!2) =0

Jj
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2. Algebraically, determine any restrictions on values of the variable in these radical

| equations. ‘
T e JAXTTE =13 b. VBx-1+8=0
by - 16> O Ix-120
Yy 2>l 3x 2 |
\ Xz "f'})e;ﬁ‘Q x 2 L,
P o :

e

d.\3x-1-4-2x =3 e. V8x+6-42x-3 f.ox-1=x-4
'?'K;’“( ‘gx*\”(ﬁ)?_@ Px-52C X._,A[ > O k=20
X2 -3 %23/

" T [X 2 3/7_xtﬁ' (xg thﬂ';\

3. Solve the foliowing radical eduations algebraically. Verify the solution.

£
S I P

a vx-2=5 b. V3x+1=5
53 . | | x =%
= Ji =S ' ' 5
B 32;2 i / '%Jiﬁ(‘g\ﬂ - f; < N
L %W‘b -3 P . )
. BX-§-2=7 d. 2v1-3x +1=9
SMK"C] - g\ -3 % = ,6“
. Q\' 3 ) wq_)x_ = ls .
Sx = 0 o5 -
. x = 1§ ' LS , S
- :‘;<§(\‘K‘) = - L =) N il \ I3 - \/
= 3§ -1 \/ = 61’ f
M’ |2 T = “1
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4. Solve the following radical equations algebraically. Verify the solution.

Biock: Date;

a. "/x + 2 = \/3 -X ‘Sﬁm ‘:,gﬂn‘.s "o(/‘-t

x4+l =5-x (j{f?\ .(53,‘, \
2'5{ = P =0 = - ¥
x - l(ll T - ow

LS Ly

L5 {2, =

- )—-—.&/?:.-:?.i - j—-—"3 g l/; - il (_? H; W ) (:)
-

=Jsn SRET N B v

b«f2x1J3x80

cJ4x~/—~42x 0

(=Y (JIE;‘\’“

d '\4"2-&-}(—\/;1.2 SG‘IWJL L’:ff’{’\-\,\ilﬁé%
‘ N
?"{“‘ w o= Y- X,

)(7”«'\’73 -+ 66 -, (:}
('3(‘ -\ (« x - (3\ gl O

Ltx = —H~- 7w 4
>( - g %: o= ’2«
AN @_\) g/tﬂ#
R . — s
s k) -2t} 2 O = M
- 35T fﬁj - 51“'“/55' = (€S F/L(a ’
S \_/ . 57
- D =7 B /‘S} - 3 )—"_‘zﬁ.,
5. Solve the following radical equations algebraically. Verify the solution.
~2+x=8 By /A + 8 - 2J— 2 N
ey (‘6 o
-1 = by +\6‘f‘

Math 11 Pre-Calculus
Factoring and Applications



=1-5 o= L +h
= L \/ L o X
& -2

e.

G x=5

Name:
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C. VvBX+19—-x=2
2. \NiE
(Star {cﬁl> = (\a2)
be x 10 = ¥t Y
}( l‘__’Lx - ’\g “.7-—«&.:3

("{( wq\) (k. ,{'7)\ = O

R X

((—»‘5 = 5 \'

2JelsHe@ -5 = JEEDAT %C"’I\

d. V7x-54+6=x _
(seYs (-6)
T -SH = x T lx 436

Y L9y +70= O
(x ~10Y (- = O
rX =0, 4 l

(L4 x 2 \O \

LS x=%
= Fh-se 20 1L FEyTR 46
- Mx b = %+ 6
i N - 9
SRNAI-E

V2x -7 =x -1
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